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T, = 10.5
,~ T, = 35.8

TE
TL

= o
0

T, = 1.0 T,
T,  = 1.0 T,

T, = 7.5 T,  = 11.7  T, = 13.0

T,  = 4.8 i-t  = 35.x
T,  = 4.8 T, = 35.X
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I a m b TE

1 0 .1 1 . 0 2.0 1 . 0 1 . 0

2 1 1 . 0 3.0 4.0 2.8 3.8

3 2 4.0 6.0 12.0 6.7 10.5

4 2 .l 2.0 4.0 2.0 5.8

5 4 1 . 0 1 . 5 3.0 1 . 7 7.5

6 5 1 . 0 4.0 8.0 4.2 11.7

I 5 1.0 3.0 4.0 2.8 10.3

8 I 1 . 0 2.0 4.0 2.2 12.5

9 6 .l 1 . 0 4.0 1 . 3 13.0

9 -I .l 2.0 3.0 1.9 12.2

1 0 6 .1 1 . 0 3.0 1 . 2 12.9

1 0 7 .l 1 . 0 2.0 1.0 11.3

1 1 2 .I 1 . 0 2.0 1.0 4.8

1 2 1 1 6.0 13.0 30.0 14.7 19.5

13 1 2 10.0 12.0 40.0 16.3 35.8

1 4 9 0 0 0 0 13.0

1 4 1 0 0 0 0 0 12.9

1 4 11 0 0 0 0 4.8

1 4 13 0 0 0 0 35.8

1 4 3 0 0 0 0 10.5

1 4 8 0 0 0 0 12.5

l -

TL

1 . 0

3.8

35.8

28.6

30.3

34.5

33.6

35.8

35.8

35.8

35.8

35.8

4.8

19.5

35.8

35.8

35.8

35.8

35.8

35.8

35.8

-r

s = T,-TE

0

0

25.3

22.8

22.8

22.8

23.3

23.3

22.8

23.6

22.9

24.5

0

0

0

22.8

22.9

31.0

0

25.3

23.3

siuSns)i? 0 - - 1 - 2 - 1 1 - 12 + 13 - 14

4FlWdSh
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n4  0

2. xi911 T E = 5.0 T E = 5.5 T E = 9.5
T, = 5.0 T, = 5.5 T, = 9.5

3.0
a -

0.5
T, = 2.0 @ - @ -

0.5
a+====-

T, = 0.0 T,
T, = 0.0 T L

= 0.5 T, = l% T,  = 10.0
= 0.5 T, = I.0 T, = 10.0

T, = 3.0

L.”

-T, = 7.0

-;/II

T,  = 2.0
T, = 8.0

= 12.0 T E = 18.0
= 12.0 T,  = 18.0

. I4 6.0 @

70.5 I .o

cfI5

T,  = 12.5
T, = 17.0

s1ea~o19a~u~~'~~~1~~~~l~~n~~  (Xii'an-iD.  14-15 LbFIz  15-16)

n. 1-2-3-7-~8-9~10-13-14-16

0.5+0.5+1.0+3.0+0.5+4.0+0.5+2.0+6.0  = 18.0 khl~ (-dh-I@i)

"u. l-2-3-4-13-14-15-16

0.5+0.5+2.0+2.0+2.0+0.5+1.0  = 13.0 t?dS19s"

n. 1-2-3-5-16~13-14-16

0.5+0.5+2.0+1.0+3.0+2.0t6.0  = 15.0 kbIl6

9. l-2-3-11-13- 14 -16

0.5+0.5+1.0+2.0+2.0+6.0  = 12.0 &h16

8. l-2-3-12--13-14-16

0.5+0.5+7.0+0+2.0+6.0  = 16.0 %h16
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4

3

5

5

5

l-ddfG

2.0

3.0

6.0

4.0

2.0

7.0

4.0

3.0

$ 8,ooo
7mJ

11,000

6,m

9,ooo

8,500

10,500

5,m
65,000

iambs

&hlP1" hp

$ 13,000

19,oocl

13,500

10,ooo

10,ooo

11,500

16,000

7,ooo
100,ooo

- 6

T, = 6.0
T, = 8.0
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TE = 6.0
4 T, = 6.0

$5,000 3(3) $4,rn

;I

_ $5,500

41) 4(3)

T, = 0.0

TL=O.O@@ ?=:::o"

t
3 Tt = 6.0

T, = 8.0

LGiafmaJ 2 - 4 9in  4 SJpb  3.0 &hi6

~W&Wl  $65,000+4,000 = $69,000

L-d11 10 t%JGnps"

.m?nqS  1 - 2 + 4 - 5

l - 2 - 5

T, = 5.0

T, = 0.0
T, = 0.0

60 T, = 5.0

T, = 6.0

gd" 3

&LPapU&WJn  $69,000+ 6,000 = $75,000

a+G%insw  1 + 2 ain 3 ah-4 2

L-281  9 iad

m&X$ 1  -2 -4 - 5

1 ~- 2 m*  5

l--3 - 5

T, = 9.0
T, = 9.0
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‘r,  = 3.6 T, = 8.6
T, = 23.33

T ,  = 4.6

b-2611  23.33 &hl6

9luk$i-4-6-7

l - 2 - 5 - 7  1 - 3 - S - 7  l.-3-6-7  l - 4 - 6 - 7

3.6 5.0 5 .0 4.6

2.4 3.6 8.0 9.4

8.8 8.8 9.33 9.33

14.8 1 7 . 4 zz 23.33

T, = 8.6
-I-‘,  = 3.6

T,  = 4.6

ri.Chn~w  6-7 9in 9.33 ah 7.33 ("btiL¶Ji,U C.P.)

baAI 21.33 taw199h

JlU%l+i I - 4 - 6 - 7

‘h.~U~dMti,  $203,oO+7;500  =  $ 2 1 0 , 5 0 0
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T E  = 3.6 T E  = 8.6 T E  = 20.33

T, =
T L  =

$2,ooo / 3.6(2.6)

/
/

f

&= 9.13 $2,000 T, = 11.53

/

2.4(1.4)
%7,5fO  -5 = 2o
8.8(6.8)

T, = 5.0 /
$1.500

I7 ‘.--“.--’

T L  =
T,  =

T, = 3.6

Li4ihlTXJ 1-4 $ln 4.6 Lh3.6 i&h16

b'-~~l  20.33 &hlfi

9lPb%l$i l-4-6-7

1-3-6-7

&U$WW $210,5OO+7,5OO  = $218,OOO

T L  = 3.6 T, = 7.6
T, = 8.13

0
$2,O@l

-0.
/

2.4(1.4) “.“,“.“,
/

7 <I1 L\ f
J.“,L.“,  ,

f $3,750

T, = 10.53 $7  5oo T,  =

P 57th  I, ’ COT,=

$2,cco

:qi

7.33(7.31)

8 ;: 1 ;;:;

$15,cQO
8.4(8.4)

T F  = 3.6

pli 4 T, = 3.6

bisihfmu l-3 mn 5 b?h 4.0

aisfiwmad 4-6 8-m 9.4 !,Th 8.4

L?FJl 19.33 fch-l99"

~lUh$i  l-4-6-7

l-3-6-7

&Y$MaJ~ $218,OOO+2,5OO+

15,000 = $235,OOO

.33

19.33
19.33
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2,000

1,500

15,000
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$33,000

$235,000
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6. I~~rsiiPns-au~~n8lnJ~~~~~~~  (node) %&34lilU  PERT KY?‘?I
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7. CT) 8. F) 9. (V 10. (F) il. (T) 1 2 . (T) 13. ( T ) 1 4 . ( T )

1 5 . (F) 1 6 . (T) 1 7 . (4) 1 8 . (4) 1 9 . (3) 20. (I) 21. (2) 22. (I)

23. (4) 24. (2) 25. (4) 26. (4) 27. (2) 28. (2) 29. (4)

148 OR 203 (H)



.H~H~H~~~H~H~~~~~~~~~~~~~~~~~~~~~~.. . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . .. . . . . . . . . . . . . . . . . . . . . . . . . . ...* . . . .A
KJui?l...  ~i7~~~U1JUM’I~MU7~~57IJ~i7IIY1~  Q
Ramlthamhaeng University Press. :f

.~~.~~~~~~~~~~H~~~**~~~~~~~**H~~~~~~~~.. . . . . . . . . . . . . . . . . . . . . . . . . . . .. . . . . . . . . . . . . . . . . . . . . . . . . ...*.....




